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Note:

f”lDeﬁne Amblguﬂy erte short notes on attrlbuted grammars

This question paper contains two parts A and B.
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M Marks: 75

Part A is compulsory which carries 25 marks. Answer all questions in Part A. Part B
consists of 5 Units. Answer any one full question from each unit. Each questlon carries

10 marks and may*-have a;.b, c as sub questlons

PART A

In what way do operational semantics differ from denotational semantics?

(25 Marks)

(2]

A programming language can be compiled or interpreted. Give relative advantages and

disadvantages of compllatlon and mterpretatlon W e,
Défige Union type.y N of
How pointers aré represented and'us d"'m Cand 4%, i
What are the different categories of subprograms?

Give a brief note on Scope and lifetime of variable.

What is the purpose of the Java Finally clause?
Explain the applications of logic programming.
erte about functions in ML and Haskell

PART-B

What is need for study of programming languages? Explain.
Descnbe the Programmmg Paradi gms o,

Explain briefly about the Denotational semantics with example.

What is an array? Explain about various array operations with an example.

OR

Descrxbe the Des1gn issues of subprograms and operatlons

OR
Briefly explain the static and dynamic scope.
What are the general subprogram characteristics? Explain.




8. Explain how Binary semaphore provides solution to the competition synchronization
problem with example pseudo code.

10.a) What is the difference between functional and imperative languages?
b) Discuss the data types supported in Python. [5+5]
OR




